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5| QKD 146 224 326 0.87 2.02
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15 | 520i(9) 2.83 345 4.22 1.05 14
16 | A=Y 145 175 214 04 0.8
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H 5 3 g5 of & o & o g 2HE
101 Et

102 ZLC YArE 2.57 2.57
103 2L YAE 27 04 0.6 0.6
104 e FE2(Fh 1.33 1.33
105 Mg F2EhH 74 0.35 0.2
106 MijE FEEH 22 o 0.8 0.8
107 s F2(Q) 1.33 1.33
108 e F2() 74 0.35 0.2
109 M FEEH) 22 g 0.8 0.8
110 Myt 52 0.95 0.95
111 HMAs S8 It 0.3 0.15
112 | Hxjg Sg 22 1 06 06
113 st A ASS'Y 043 043
114 g 52 A (3, & 0.48 0.48
115 ME 7E(Y, & 0.29 0.29
116 gl SRAGBIE, Q) 0.48 0.48
117 HE 7tE(Y2) 0.29 0.29
118 AT 0| E}O|O] 742|0f 0.57 0.57
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120 8H SUE 1.05 1.05

- 108 -



H 3 g5 of o g & o & HE
121 o|ojZ4 oflB} Z3|0|E{(SE) 0.86 0.86
122 =& gA 0.48 0.48
123 HIQIX| 2= (M/T) 0.67 0.67
124 HIQIX| 2= (A/T) 0.67 0.67
125 AFO|E E|0| 3 (3HE Al 0.52 0.52
126 SEE AE®F 0.48 0.48
127 SEE AE(Q) 0.48 0.48
128 2|0 AE ? ?
129 AE 7|0{(xh 0.52 0.52
130 AE 7|0{(R) 0.52 0.52
131 O HE(QEh 0.38 0.38
132 oM HE(QHQ) 0.38 0.38
133 7| ME 1.57
134 34| ME HYM 1.52 1.52
135 AT & HiM 1.43 1.43
136 Sl HyjM 1.43 1.43
137 Qlo|H ZE U 2 #HO|X| 0.71 0.71
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141 OO Zd HATIAL 0.95 0.95
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144 0j0{74 mo|= NO.1 0.4 0.4
145 0o{Z1 mo|= NO.2 0.4 0.4
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148 OOfZ1 A AL 0.95 0.95
149 Wzt grol ofof 22| 1.09 1.09
150 2HC| Of 0.67 0.67
151 2HC|Of B &l 0.33 033
152 2IC|OfH 2|XME =3 0.38 0.38
153 QM B3 (D) 0.38 0.38
154 QtE{ 14| 0| 1.7 1.7
155 AEEl DE 1.5 1.5
156 OFE|L} 0.62 0.62
157 oto g 1.25 1.25
158 AFO|E AFZE S2|(ED 0.6 0.6
159 AO|E AFZF 22|(2) 0.6 0.6
160 g AMZE 27| 0.5 0.5
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163 X ORREl 9 =23 (&} 0.57 0.57
164 | AT OHRE 9 Bap3(R) 0.57 0.57
165 AE AZ 5.2
166 Aaig e 5.23
167 o HE 1.0 1.0
168 Efo|@ F4Hq 1.57 1.57
169 Elo|@ HE 243 243
170 4| &4 24 0| E 0.3 0.3
171 oloj 22l 0.52 0.52
172 oflAl @ Qlmy 23 2.3
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